Chemistry 115 - 3903, 3905				Name 				


Dr. Cary Willard


Quiz  5A						March 10, 1995





15 points	All work must be shown to receive credit.





1. ( points) What is the empirical formula of a compound that contains 60.0% oxygen and 40.0% sulfur?


























2. (4 points) Balance the following chemical equation.











_____Zn3Sb2  +  _____H2O  (((  _____Zn(OH)2  +  _____SbH3








3. (6 points) Given the following chemical reaction





	2 C4H10  +  13 O2  (((  8 CO2  +  10 H2O





a.  How many moles of carbon dioxide could be produced by the reaction of 5.47 moles of butane (C4H10) with excess oxygen gas?


























b. How many grams of oxygen are required to react with 25.0 grams of butane?





























4. (1 point) What is the term used to describe the calculations that relate quantities of reactants and products.


�
Chemistry 115 - 3903, 3905				Name 				


Dr. Cary Willard


Quiz  5B						March 10, 1995





15 points	All work must be shown to receive credit.





1. (4 points) What is the empirical formula of a compound that contains 85.63% carbon and 14.37% hydrogen?





























2. (4 points) Balance the following chemical equation.











_____Sb2S3  +  _____HCl  (((  _____H3SbCl6  +  _____H2S








3. (7 points) Given the following chemical reaction





	2 C4H10  +  13 O2  (((  8 CO2  +  10 H2O





a.  How many moles of carbon dioxide could be produced by the reaction of 3.27 moles of butane (C4H10) with excess oxygen gas?























b. How many grams of oxygen are required to react with 15.0 grams of butane?





























4. (1 point) What is the term used to describe the calculations that relate quantities of reactants and products.








